


I
7€ Dhoh

lv € U & h = off subbasis

~

S L S I S _ I
I %Tw:osz¥§fy:UﬂVJC F: %B:qxzx\%*y:({ ﬂF: %R:OJAZX Vv

l
=
14
2
)(
3
)(
]
¥y
§H
L
I
(=
¥y
>
L3
)(
=2
)(
4
2
-




S I
I mho < ok Lﬂm lic 0-zush
. L= o

S I
y€ U ch =1 Whoxqyx %W:U%U
= surj

lveUch

S I
n €1l mwhioxqyx WU

~

.1

¥y
>
3
¢

22
¢

S . S I
I mwhe:o X’y/\f/nE [ mwhio <y < iU

~

I

e 'yU
1 1. o — S 1 _ , , ..
=" =TS WMUSy = pto =y ==y =g <=y = 7= i

P



vy € H%o:ﬁ

B S I
e, o U I whio <y =< Wyl
1’YEU
S S I S Y
I mwhio=xn€l: %F:ox;yx\%y:UJﬂ&F: %-F\:OJX:ZX U
S I S I S I
= I mhio <y < WU =T mwhioxn =< WU =T: mho x4 < iU

S

I
I %T\: = %0:13 0-zush

\Q




